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2.2 Ruby
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RubyOOOOOOODOOOOODOOODODOOOOOODOODOOLDOOODOO
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goggoobbbobobobbbbbtbodddoouooooooobooood
gbbooboboobobbobobooboobboooboboabboobodb 4
o0ib0o0booo f;,0b0o0obobo0o0oboobooooobooobbooboo
ERERE

dQT’Z‘
dt?
gboodbodv,goboaooboooo

m

= fii=12 ..., N (2.1)

_dry
Cdt
gboobootuotooooogtuodoobooguooooboouooooood
gdoduodoooduououoooouoooouoooooooouo
gbooootdotoooboouodoonoouoooooououooooouo
gdododododouououoouood

(2.2)

(%

2.3.2 VerletOOQOOOQOO

Verlet UODODOO0O0OO0OOD0OO0OO0O0ODOODOOOO0ODOODOODOOOOODO
gobbobuogobbbuoooobboogod
Verlet DODOODO0OOOO0O0210000000000000O00O000O0O00O0O0
000000000 t++hOD0D0 +hOODODODODODOODO r(t+h) 0 r(t-h) 0O O
000000m2100 dry/dt=r; 000000

h? f(t)

ri(t + h) = ri(t) + hry(t) + 7 (2.3)

gogbboboooobobobooooboboboodan

ri(t+h) +r(t —h) :2ri(t)+h2f"n(? (2.5)
ri(t+ h) —ri(t — h) = 2hr(t) (2.6)
gboooobooboot+hdobooboobotoobooobooon

ri(t+h) =2r;(t) —ri(t —h) + hZfin(f) (2.7)



fﬁy:;0ﬁ+m—n@—m) (2.8)

goododn VerletOODOOOOOOOO t+hOO0OoOooobooonoonD 20
O00+t0 (t++h)00O0D0D0ODODODODODOO0O0O0O0OOODOODODODDOOOOOt=h
000000 rn(h)OD270000000000000000 r;(0)00 r;(2h) 0O
O00m2800000 v, 000000000 [2]0

2.4 Lenard-Jones(] [0 00O

Lenard-Jones 0 OO0 DO 0ODOODOOOOOOOOOOOOOOODOODOODOO
gboogoboobboobuoobboooboobboobooo10bbon
O000000o0boob0db0bOob0ob0ob0o0oboOOOn Lenard-Jones 0 OO O

ogoog ) .
o= w2 ()]

gooooovboboobooooobooborgbobboboobobd pygOd
Ob0ob00oo0ooooooobUdOpb 1200 600000 Lenard-Jones O 0O O

sfslsfs)sfs)sfalslisls
UU)zuk[(i)w——<j>j (2.10)

Lenard-Jones U0 00000000 cO0O0OO0O0O0Oe DOO 200000000
O0000000r=c0 U(rn)=000000000000e O U(r)ODDODOOOOO
OO000Lenard-Jones U0 OO OO0O0OOO2000000000000000O
000000000000000000 U(r)D00000r000000000
0000000000U(r)D0000000OO

F&%:—dUw%:%<Hji—6ﬁ> (2.11)
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oo0DoO0OooODODOOO0000O0OODO0O000000K(p)DOODODOOoOoogod

(K(p) = (-2 5oy =3n"T (2.12)
D))= om i:1pz’ = 9 .
0000000000000 O0O0
]' 2
Ezimv (2.13)
000000000000002130000000000 KO
1
m:§NMEfmﬁ (2.14)
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O00000O0O0OoOoO0O0oOoO0(022) 00000000000 k0000000
grobbobooboobxbgobbgb21e00000000

0 22: 00

F=kz (2.16)

0000000000000 0000000000000000 1.20000
000000000000 abed00000000000 x1x2x3x400000
00 bOOOOFOOOOOO0O21700000000000000000000
00000 k0000
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U 2300

F=—k(22 —x1) + k(23 — 22) (2.17)
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0240000
0000000 y0OO0O
y::14%n2w(ft—»§) (2.18)
0000000000wOD
w=2nf (2.19)
000O00000O0o
000000002n00000000000000000000 kOO
2w
k=" 2.20
i (2.20)

gooooobobn
go2i8ggo2190booo2200000o0o0o0o0o0ooooooobobbon
guoooooon
y = Asin(wt — kx) (2.21)
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2.8 UOO0OOO

goboggbbuoogbbbooobbuooobbboooobbuooobobog
O000O0oOoOoOoOoOoO0OO0O (215 00000000000000000O0O0OOO
goobbbbbooooooobbbbbooooooobboobboooood
gogobboobobodogooooboobbboooooboboobboooooobobo
gogbbbuoooobbbooooobobooogbbboooobobod

29 RubyOUOGooooooood
29.1 J0O0ODOOODO(Doooooo)

7000000000 (@21)000000OOODOOOOOOOOO

$init[label] = [move,speed,accel,label of around atoms]

OoooO0o0o0OD0OD0D0O000000000%init000000000000 Omovel
speedlJ accellllabel of around atoms U U 0000000000 OOOOMO
oooooooboobon

$init[0] = [Vector[0,0,0],Vector[0,0,0],Vector[0,0,0],[]]

$init[1] = [Vector[0,1,0],Vector[0,0,0],Vector[0,0,0], [1]

$init[2] = [Vector[0,-1,0],Vector[0,0,0],Vector[0,0,0], [1]

$init[3] = [Vector[sqrt(3),0.5,0],Vector[0,0,0],Vector[0,0,0],[]]
$init[4] = [Vector[sqrt(3),-0.5,0],Vector[0,0,0],Vector[0,0,0], 1]
$init[6] = [Vector[-sqrt(3),0.5,0],Vector[0,0,0],Vector[0,0,0], 1]
$init[6] = [Vector[-sqrt(3),-0.5,0],Vector[0,0,0],Vector[0,0,0],[]]

gogbbobooogbobbodo
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$init[7] = [Vector[3,3,0],Vector[-2,-2,0],Vector[0,0,0], [1]

g 250000

29.2 JO0ODOOODO(DooooOoo)

gogobobobobboooooooobobbbboodooooobobobobboogo
ggn

goooogno
for i in 0..11 then

$init[i] = [Vector[-6+(1.1)*i,-6,0],Vector[0,0,0],Vector[0,0,0], []1]

end

gogboobooogboboboooon
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$init[0] = [Vector[-4,4,0],Vector[-2,-2,0],Vector[0,0,0], 1]
$init[1] = [Vector[0,-3,0],Vector[1,2,0],Vector[0,0,0], [1]

$init[2] = [Vector[1,0,0],Vector[-1,-2,0],Vector[0,0,0], [1]

$init[3] = [Vector[-2.5,5,0],Vector[1,2,0],Vector[0,0,0],[1]
$init[4] = [Vector[-3,1.5,0],Vector([1,-2,0],Vector[0,0,0], [1]
$init[5] = [Vector[4,5.2,0],Vector[-1,2,0],Vector[0,0,0],[1]
$init[6] = [Vector[0,4.2,0],Vector[1,-2,0],Vector[0,0,0],[]1]

2.9.3 Lenard-Jones0 OO0 00O

Lenard-JonesU 0 OO OO O0O0O0ODOOOODOOOODOOOOODOOOOOOO
gobobooobbooobbooobbooobbuooobbbooobboo

for i in 0..8 do

for j in 0..$init[i] [3].size-1 do

label = $init[i][3][j] *0 00000000 0O0OOOO

tmp = $init[i] [0] - $init[label] [O0] #0 OO OODDODOOOOODOO
end

end

gooobooboboobooboooboobobobooobom1aiod Lenard-Jones O
gogboobooooooooan

r = (tmp.r)

kk = 5x24*x (2% (1/r)**x13)-(1/r)*x7) #Lnerd-JonesU 00O 0O0O0OOOOODO0O
Ooon

f = tmp*kk

Obooboboooooooobooooooooooooooooboon Verlet O
gooobooogoon

294 VerletUOOoogn

Lenard-Jones 00O OO 0O0OO0OOOOOOODOODOODOODOODODOODOO
gobood

gobboooobbooobobooooblingooooooobood
Ubdabbboooobbod

a=— (2.22)



gobogoobooboobooboobodboob 1bboobbooboob FOoO
goggobobuoooobboooobon

$init[i] [2] = $init[i] [2]+F

ggbbbuoooobbbooodgbobbbooobbboooob

$init[i] [1] = $init[i] [1]+$init[i] [2]*dt

O0ooooooooog VelletOODOOOooOooooooooooooooo
goobobooood

$init[i]1 [0] = $init[i][0] + $init[i]l [1]*dt + ($init[i] [2]*(dt=**2))

ggbboobbobboooobbboooobbobogo

29,5 0O0OOOO

gb ToOOir4b0ooobobobobobobobbovoboooooooog
ggobvbououooooobbbbbbduoooobobbobbbodoooooo
gobbobouogoobboooobobuoooooboo
goboodbodtmpddnooom

tmp = temperature($init[i] [1])

gogobobbobbobougoooobbooboboobobbooooooonon
gogd

if (tmp<50)then

filel = currentTime_color(filel,t,color[i+2],[0,0,1])
elsif (tmp>=50 && tmp<70)then

filel = currentTime_color(filel,t,color[i+2],[0.1,0,1])
elsif (tmp>=70 && tmp<90)then

filel = currentTime_color(filel,t,color[i+2],[0.2,0,1])
elsif (tmp>=90 && tmp<110)then

16



filel = currentTime_color(filel,t,color[i+2],[0.3,0,1])
elsif (tmp>=110 && tmp<130)then
filel = currentTime_color(filel,t,color[i+2],[0.4,0,1])

elsif (tmp>=370 && tmp<390)then
filel = currentTime_color(filel,t,color[i+2],[1,0,0.2])
elsif (tmp>=390 && tmp<410)then

filel = currentTime_color(filel,t,color[i+2],[1,0,0.1])
else

filel = currentTime_color(filel,t,color[i+2],[1,0,0])
end

goddgoooooooooobbbbbobbobooodguoooooon
gbooobooooboon

29.6 UU0UOOOO

000000000 (1.18) 000000000000 oooooooooo

k =100 #0000 OO
for a in 1..$move-1 do

$init[al [2] = $init[a] [2]+

(($init[a] [0]-Vector [n+n*a,0,0])-($init[a-1] [0]-Vector[n*a,0,0]))*(k)+
(($init[a] [0]-Vector [n+n*x(a+1),0,0])-($init[a] [0]-Vector [n+n*a,0,0]))*(k)

#00uogn

end

ggboobobboboooobbobuoooobboboogaob

29.7 UU0Uooooooodad

gbboobogbobogol2opnbodbogobuoobbouogbbd
bbb lw0bO00b00bb0bblwb O0OL160 117000000
ggboobooggog
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goooo
omega = V*k

ooooo
omega = (2xv/$dis)*sin(k*$dis/2)
o0

a*sin(omega*xdt-k*i*$dis)

gogbbobuoggobbobbbuoooobbbuoooobbboooon

298 JUUuoooon

gogobbbbouooooobbbbbuoooobbobbbouooooon
gogoobbbbdoooooooboboboobbboouoooooobbbboooa
gogbobuoooobood.

if i in 0..60 do

if i>=0&&i<=41 then

filel,color[i] color_blinn(filel,[1,1,0])
else
filel,color[i]

end

color_blinn(filel,[1,1,1])

end

ggbbobuooobbboooobobbooodobbobbboooobbb 21
gogbbobuoooboboogooo.

if t%21==0&&t!=0 then

filel = currentTime_color(filel,t-20,color[0],[1,1,0])
filel = currentTime_color(filel,t-20,color[0],[1,1,1])
filel = currentTime_color(filel,t-20,color[41],[1,1,1])
filel = currentTime_color(filel,t-20,color[41],[1,1,0])
end

gobbbooobbbbbboooobbboooobbod
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